Technician-B (Electrical) . Question Booklet Series - C
Isra

T TR 37areT fFamT
GOVERNMENT OF INDIA: DEPARTMENT OF SPACE

SR 3TIE Fo s, ST
ISRO SATELLITE CENTRE, BENGALURU

TRT&TT qREcTehT/ Test Booklet

qdteT fesTieh / Date of Written Test 27.11.2016 (IfAGR /Sunday)

AW / Trade dHAATA-B / Technician-B
(gaifFewer/Electrical)

qemafe / Duration of Written Test 09.30Hrs to 11.00Hrs (90 minutes)

9RaAT &Y TEAT / No. of questions 60

SReT YTECTenT # I3l shT HET) e Ut Higel( 18

No. of pages in the booklet (including cover page)

eIt & o H?:lﬁwlnstructions to the Candidates

1. I8 ea-ud, qQem-qieas & w0 & § @t qferiidl a1 Hedisd gaedr geal 9X g
The question paper is in the form of test booklet. All candidates will be assessed on identical questions.

2. OMR fie ® et &t earegdes ufer] OMR efie ¥ & 3R 39a 3Rt & RFAd #te & fAv Saa dfa dgee
FeIH (FIT IT 1) FT 3TAET F

Read the instructions on the OMR sheet carefully. Use only Ball Point Pen (Black or Blue) for writing/ shading/ bubble on OMR
sheet and marking your answers.

3. 3 & fou, et qfenf¥ial # Fea e dfed v OMR efie feam sreem| odam i FAd . 7T OMR efic
H Beor & 39T WF AeTH AT & TUT FET EIUT FY IS I I o |

A separate OMR answer sheet with carbon impression is provided to all the candidates for answering. On completion of the test tear
the OMR Answer sheet along the perforation mark at the top and handover the original OMR answer sheet to the invigilator and retain
this duplicate copy with you.

4. Waﬁﬁwqw%ﬁvaﬁ-waﬁzmaﬁmwﬁﬁ?%maww(a), (b), (c) IR (d) few 7w &I
ST W had Ueh & Ter gl

Each objective question is provided with a text and/or figures wherever applicable with multiple answer choices (a), (b), (c) and (d).
Only one of them is correct.

5. @l aefess Ul & HAW 37 gl Wl IR o fAU ofief 3 foT ST, IR A & W 3R, el I F e

U 3 HIeT S| fHEY e & AT g3 S e 3A A e
All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and MINUS ONE for wrong
answer. Multiple answers for a question will be regarded as a wrong answer.

6. U R T gifgell 3R I & el W A a1 B a1 C a1 D RIfEAd fhar amm &, 5% OMR efie W, f3ea &
S & fger JifAard 81 0T 7 e W, STR-YREAR FH Hodihel AET fhar Sea|
Question booklets have been marked with A or B or C or D on the right hand top corner, which is mandatory to be written on the
OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not be evaluated.

7. YREdHT H UGS SHIE T HGRTehdl & AR Fed HHA & U A9 A ST Fevdl &1 om0 & e =g fear
SITQT |
Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

8. 3uffyfd dfic W IR Xl ¥ ugedl, TUedl & 3ufeyfa e W qiea @is forger ol aemdi & 3= a1 E &
A & FEAET A g9l

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet. Candidates should sign
against THEIR names only.

9. W& & AT # (1) BT e AT e Fid oeX (2) qF OMR 3 2fe 3R (3) oot o7, e &t avw

H gl e off aRFPufa & 39 adamdt s & o S|
At the end of the test (1) Written test Call Letters(s) with photograph pasted on it (2) Original OMR Answer Sheet and (3)
Question Paper shall be returned to the Invigilator and shall not be carried by the candidate under any circumstances.

Page 1 of 18



Technician-B (Electrical) Question Booklet Series - C

1 U 120 Ah &THAT dTel dedl, 8A URT &I 39 & AT & Ghal ©
A 120 Ah capacity battery can deliver a current of 8A for a period of

(a) 20 ©c/hrs
(b) 15 &&/hrs
(c) 12 gc/hrs
(d) 8 &e/hrs

2 BIS #I3 & IER #-HUh & AT IUFFA R &I TT BT &
The color of wire recommended for earth connection as per BIS code is

(@) ot / Red
(b) 8 / Green
(c) =t / Black
(d) #rerr / Blue

3 MCCBusw &
MCCBis
(@) HAIe33 HF IRIY skt / Moulded case circuit breaker
(b) HET FF IRYY s / Main case circuit breaker
() #H&F fag=or aRYY s / Main control circuit breaker
(d) #H&T T gRaer s / Main current circuit breaker

4 gfasessr 1 A9F &

The unit of reluctance is

(a) ampere/cm?
(b) weber/cm?
(c) ampere turns /weber

(d) ampere turns /cm?

5 WIS P A gaftaa fear Ser afge
A fuse should be connected in

(a) focgemdr Hagsh & @Y S@em & / series with neutral conductor
(b) fasyaTdT TWagsh & AT AR H / parallel with neutral conductor
(C) TOT Tagsh & AT FAAR #H / parallel with phase conductor
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(d) =ROT Haged & AII AW A / series with phase conductor

6 U &3 Ugd & URI IR g W1 & yag I G AeAfaf@d & & @l @ g2
Which among the following is the direction of flow of line of force around a bar

magnet?

(a) vdt ga & afdaelr ¢ga @ / out of the east pole into the west pole
(b) 9= ¢ & qdf ¢a s / out of the west pole into the east pole
(c) cferolrea @ 3w ¢@ o / out of the south pole in to the north pole
(d) 390 ya & gf@ol ¢a ds / out of the north pole into the south pole

7 50 ASH WE 9TRAr & T FUIRT #F 200 dlec & AT FoT de @rer har I=m
gl guRE & §ufa Fel & Idse
A capacitor of capacitance 50 micro farads is charged to a potential difference of 200
Volts. Find out energy stored in the condenser?

(@) 13et/ joule

(b) 100 f&elr Ser/ milli joule
(c) 10 f&e Syt / milli joule
(d) 100 Sfer/ joules

8 AN, offel, 8T TUT FQGUTH T dsalel Teh el YUY &M AT Bl & /
The resistance value of a carbon resistor having Orange, Red, Brown and Golden color
bands is
(@ 32kQ+5%

(b) 3.2kQ+5%
) 320Q+5%
(d) 32Q+5%

9 Teh g&] & YRIEGA & 7Y §
The permeability of a material means

(a) &I # Ta&dr / strength of a material.
(b) ST TE] & HIAT T o W3 Teh =TTl
The conductivity of a magnetic material to the magnetic lines of force
(©) %Tmﬂow $r gear / Strength of an electromagnet
(d) dahel ST & AP W ollg & &3 A AV Faohol
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10

11

12

13

14

Magnetization remained in an iron bar on withdrawal of magnetising force

oz tfag dit & TIfSier & w5y &ia ar 3 scated g §
Which gas is produced during charging of a lead-acid battery

(a) gT83reteT / Hydrogen

(b) AT / Methane

(c) 3ftedsTeT / Oxygen

(d) Fea sE3TEFASS / Carbon dioxide

N-ET8T 37EfelTeleh & TR &l & foT “SIfter g 39T fhv Siearen gerd g

The material used for ‘doping’ to prepare N - type semiconductor is

(@) f3T# / Indium
(b) 3ferzeT / Gallium

(c) 3RAfA® / Arsenic
(d) =rér / Silver

H@ell RLC IRGY & 3fef=Trel 3gf (f;) efiRor oitet & fow 47 &

The formula for determining resonant frequency (f,)of series RLC Circuit is

(a) fr=+LC
1
(b) fr=—
(c) f=2IMVLC
_ 1
@ =
Tehel AIRFA IUNH arer @Y afc HeX IR 3 B aRuy 7 afFT (P) gl #
(Wia W, = gie #Hex ﬁ%gT)
Power (P) in a 3 phase circuit with two watt meters at unity power factor is (W1 & W, =
watt meter readings)

@ P= W, +W,
() P=W,-W,
© P=W,xW,
d P= /2w,

fohaeh JTueT A oo HeX T 3UANT AT ST 87

For which one of the following applications, DC shunt motor is used?

Page 4 of 18



Technician-B (Electrical) Question Booklet Series - C

(@) Selfege grd AT Yo / Electric tram or train

(b) saifdes gisTe T el / Electric hoist or crane

() 3Tg TIfEar T & TTY dTell HLAT / Drives with high starting torque
(d) #ef=T 3SR 38e™@ / Machine tool drives

15 yearadt dleedl @1 URT &1 IRATCT TAT &M T el g Fel @T & T IR &
ary fAwfa fFar aar &1 589 AE9or Fga T

Alternating voltages and currents are represented by straight line with an arrow to
represent the magnitude and direction. This representation is called

(a) 3tfeer &AMET / Scalar quantity

(b) HEI AMET / Phasor quantity

(c) wcaradr AT / Alternating quantity
(d) rms AT / rms quantity

16 DC Sif & IR EMF (E) T gT & (0= 917 ¢a & el Jeehg o,
Z = el # Fel TEIT, N= rpm & U & 91, P = ¢al H T&IN, A = HHAEAIKR
g2 I TE&dn)

The formula to find EMF induced (E) in DC generator is ..... (® = Average magnetic

flux per pole, Z = Total number of conductors, N = speed of rotation in rpm, P = number
of poles, A = number of parallel paths)

®ZN P

(@ E=——x-=volts
60 A

(b) E= P2V « 2 volts
60 P

(c) E= 2P Volts
60

@ E=22yolts
120

17 i @1 JfaT g s W &R deedr &ar &7

Which type of generator gives a constant voltage output at all loads?

(@) TR HFI3vg AT / level compound generator

(b) F==lr FF3US SAfTT / cumulative compound generator

(c) 3T FFur3vs HAfa / differential compound generator

(d) #@er Sifa / series generator
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18

19

20

21

22

IR WS H 3chA ol ufhar & FEd o

The reverse breakdown phenomenon in a zener diode is known as

(a) 3rgeira weTa / Avalanche effect
(b) gfer worra / Hall effect

(c) eaer 9dHTT / Tunnel effect

(d) Hreier gaTa / Seebeck effect

ad 3TN H Hhdd H Tollel g NaRTH 9ol @ @
The force required to move the pointer in an indicating instruments is
(@) fa&T s / deflecting force

(b) fT=s s / controlling force

(c) 37aFcsT &ef / damping force

(d) arg =¥oT 3raHes & / air friction damping force

5 AYRYY (800W & ) H IIAd AfASAHA Fehrer fawgait v aear g
Maximum number of light points allowed in a 5 A circuit (not exceeding 800W) is

(a) 5fe=g / points

(b) 10 fe=g / points
(c) 15f9=g / points
(d) 20 fe=g / points

4 @ AC HlT & TAIT ol golforgenel 3l gl
Total electrical degrees for a 4 pole AC machine is equal to

(@) 180
(b) 540°
(c) 720°
(d) 900

Ffaf@a & @ Sia a1 Aex, 3f0Faa Taféer oF aar &

Which of the following motors will give highest starting torque?

() TUTRT FTeIC AeX / capacitor start motor
(b) IfAaEde A / universal motor

-\

(c) shaded ¢@ HeX / shaded pole motor
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23

24

25

26

(d) wfdsessr Aex / reluctance motor

IfE v CEBER & gfadae B T gIer fhar Sv aur wraffe dleear @ o3
frar ST ar gfadas deear e

If the secondary turns of a transformer are doubled and at the same time primary
voltage is reduced to half then the secondary voltage will

(a) 3mar / be halved

(b) #1§ aRader sgT / not change

(c) = / be doubled
(d) =X 311 / be four times

Sefaedr 2T 7 39T P Swarer SearatdT YR @I gl §

The type of alternator used in hydroelectric power stations is

(a) I Aferde diar gcarafds / non salient pole alternator
(b) @ferge drer gearafda / salient pole alternator

(c) esf SeeX / turbo generator

(d) T caTseT Ycarafas/ steam turbine alternator

TABER H YA HT arell AT A Ykl fex & 37T 3UANT fFAT SA=arem uerey
gl gl

Material used inside the breather to prevent moisture entering the transformer is

(a) |f3TA FR1SZ / sodium chloride
(b) @f3ga fAferhe / sodium silicate
(c) Tafererr Ster / silica gel

(d) X Fethe / copper sulphate

HHPIOlh HUTRT Bl &

Synchronous capacitor is

(a) T aHAT TAfds e d / an ordinary static capacitor bank
(b) T 31fOR-3ATSd THGIoleh Al Zrsfder JifAFHr oig /

an over-excited synchronous motor driving mechanical load
(c) TTTFr ois & o1 3TF-3da THbITIR Al /

an over-excited synchronous motor running without mechanical load
(d) TFFr a5 & T T T HI-3dTd GHFIolh Al /
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27

28

29

30

an under-excited synchronous motor running without mechanical load

$s9eT AT 3 VT awT ¥ IRy () ¥

The frequency (f;) of the rotor current in an induction motor is given by the expression
(s =slip, f = supply frequency)

(@ fi=(f/s)

(b) fr=(s/f)

() fr =(s/f?)

(d) fr=(s.T)

fEFaler ol SRl AKX (SCIM) H Al SR & g & fav HeAfafgd & 4

dleld didy &ddigU

Which of the following statement is FALSE for skewing of motor bars in a squirrel
cage induction motor (SCIM)

(2) T HIfILT T AT & / it prevents cogging
(b) U3 e @I Ferar & / it increases starting torque

(c) 3% UHTHA €h HI 3cdiesT / it produces more uniform torque

(d) 379ar JaATeled & HT AlEI “hum” FT FF FIAT &
it reduces motor “hum” during its operation

LT 660 V AT UraT hisgel & 39T fFT SAidrel ATeleh &l <1, W AR F:ar
gl

The diameter of conductor used in LT 660 V grade power cables depends on

(@) YdTelellcH® dlecdT / operating voltage

(b) rfeceqomieh / power factor

(c) arfgd &RT / current to be carried

(d) wgad Atk T JhR / type of insulation used

Thlc TASTT H _ H Scolel & 39T fohar J1ar §
Scott connections are used to transform:
(a) Terel %H IMYAT T dled =T
single phase supply into three phase supply
(b) Tl %E ITYAT T ar =T
single phase supply into two phase supply
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31

32

33

34

35

(c) TR Hufhd UrafAe # 3ol TURhd gfadigs
star connected primary into delta connected secondary
(d) et =RoT gl @ ar Ba 3t
three phase supply into two phase supply

FAE ‘B’ YaYF #, MFeqT URT & fov varfed arch &

In Class ‘B’ amplifier, the output current flows for

(a) 3me geqC @ghel A A / less than half input cycle

(b) el $eTqC HIgehel & 31f8 / more than half input cycle

(c) 3mel 39 wmghel / half input cycle
(d) 9 s=19c @S / entire input cycle

R-L-C aRuY & 3fefeile; W rfFaons gl &

The Power- factor at resonance in R-L-C circuit is

(@) =T / Zero

(b) 1S / Unity

(c) 0.5 <f3fer / 0.5 lagging
(d) 0.5=0f3ar / 0.5 Leading

U A3 TIF & el & AU 3raeas diecd ] AR Far &

Voltage required to operate a neon-sign tube depends upon

(a) Tg& T =TS / length of the tube

(b) €I T 9Ty / tube material

(c) T« =1 <ard / diameter of the tube
(d) &g« &r Aers / thickness of the tube

Tsh SCR A1 URT & HY dTelel o YT AWM e
An SCR starts conducting with appreciable current when

(a) TSIS AT JIC il FOMcAS @ / anode and gate both are negative
(b) TS FH{UNcAS IAT T UAlcH® & / anode is negative and gate is positive

(C) TSI YadlcAs AT I FUTMcHAS gf / anode is positive

and gate is negative

(d) TAIE T JIC al=l Yl & / anode and gate both are positive

g R & ACH DC dRdds # Haifdes cafdr g
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36

37

38

39

In which type of AC to DC converter efficiency is higher :

(a) A ST A< / motor generator set

(b) Jedr aRads / rotary converter

(c) AN 31k gRkeMerss / mercury arc rectifier
(d) Tifas Te&e aleters / solid state rectifier

TIETH URT EBER (CT) F ST &t & fAfcse o amam §

The burden of protective Current Transformer (CT) is specified in

(a) oS arT Fr gfaerd / Percentage of load current
(b) @teT - TiFIIR / Volt - Ampere

(c) wfdera 3rgar 3fe / Percentage Ratio error

(d) wfaerd %& JfE / Percentage Phase Error

IR ImH IRl HI FAKR H SIS IRAT 81 $H TAVSleT T H@oll H a1 ImH dTel IRl
& @TY SIST IRT §| AT URehdl dATSU

Four inductors each of inductance 1mH are connected in parallel and this combination is
connected in series with two inductors each of inductance 1mH. Calculate the equivalent
inductance?

@ 2.5 mH
(b) 3.75mH
(c) 2.25mH
(d) 3mH

g g3 Jur fAea e & v dfey TIEBA T 39T BT &l
For high head and low discharge, the water turbine used is

(a) dYoce drer / Pelton wheel

(b) FeusT Tl / Kalpan turbine
(c) feaw esfaT / Francis turbine
(d) =hfes & / Propeller turbine

TG W Al-als geTor H S & fv fHar Srar g

No-load test on a transformer is carried out to determine

(a) dr gIfer / copper loss
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(b) TS YRT AT A1H g / magnetizing current and Copper losses
() deehel URT AT #A-ells g1feT / magnetizing current and no — load loss
(d) TEHRER T gaTar / efficiency of the transformer

40  HiT AT 3YEOT SelfdFed URT & FSHT YHIT 9T HF HT §
Which appliance works on heating effect of electric current?

(a) arfrer #f=r / Washing machine
(b) s fAFEY / Food mixer

(c) <sor @r / Table fan

(d) <rEeX / Toaster

41 ©s 1000 dfc g & Teh 240 V AC HTAs I SIST I &1 &leX & Sgdl URT

__ &
A 1000 watts heater is connected to a 240 V AC Supply. Then the current drawn by the

heater is

(a) 8.006 amperes
(b) 6.106 amperes
() 5.160 amperes
(d) 4.166 amperes

42 uwh gol 9ROy A
In an open circuit.....

(a) fRIEr qUT URT Al AT @
Resistance and current both are zero
(b) TTANY AT URT a=Ar A &
Resistance and current both are infinity
() SRR o & @aT umT e ¥
Resistance is zero and current is infinity
(d) IR 3Ed § 9T ORI T §

Resistance is infinity and current is zero

43 gEwfas Al #, T 3F emf (Ep) H aR&A0T R IR Far §

In a Synchronous motor, the magnitude of stator back e.m.f (Ep) depends on

(@) FeX & g7 / speed of the motor
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44

45

46

47

(b) FEX & #RX / load on the motor
(c) hdad DC 3datehdr / DC excitation only
(d) Q9T TAT AT el gt / both the speed and rotor flux

¥ 7 sorgiese Hr ufa @t & AT ST ¥

The condition of electrolyte in a battery is measured in terms of

(@) ¥RT HATT / current value
(b) fafarse getca / specific gravity
(c) 31FoT HMET / acid contents

(d) dreed 3T3eYC / voltage output

A-es &1 Tyfa A Jur afasdeear & aifad daerfes Ay $r 3R 9nT I,
When running under no-load condition and with over excitation, armature current Iy
drawn by a synchronous motor

(a) 3eIgeFd dloedm & @Y %A H § / Is in phase with the applied voltage
(b) gRomeT Steedr E, & 90° & 91 § / Lags the resultant voltage E, by 90°
(C) g IV @RI 3T dlecdl & 9IS § / Lags the applied voltage by a small

angle
(d) 3teT9geFd aloedm & 3T & / Leads the applied voltage

H-&NOT GRYY s (ELCB) & YR T FI AT ¢
Earth Leakage circuit breaker (ELCB) works on the basis of .....

(a) 31aferse URT / Residual current
(b) ¢ URYY €RT / Short circuit current
(c) 38 &RT / Overload current
(d) fTsgsTdY ¢IRT / Neutral current

ar gehra ¢t & S FRRA I
The force acting between two magnetic poles is

(a) Z‘{\fl‘ & '\'=|?=I1?:ID'C|1T-TF / directly proportional to the distance
(b) E@ * W / inversely proportional to the distance
(c) Z‘,\ﬁ F g & Wﬁ/ directly proportional to the square of the distance
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(d) Z‘,\ﬁ & T & W /inversely proportional to the square of the

distance

48 arfq fgEor & fav, ga gRadsr fafr H IYATIT ST bl &
For the speed control purpose, pole changing method can be adopted for

(a) Fera Rer Aex / Slip ring motor

(b) FFFIfeIe AEX / Synchronous motor

(c) Fater ot g3FUT Al / Squirrel cage induction motor
(d) Teher T AreX / Single phase motor

499 ds urH fhecy gg & S
A band pass filter is that which

() foi#T 3MGRT Hehel AT & / passes low frequency signals

(b) 3=d mﬁr Hohd ST § / passes high frequency signals

(c) ar 3TIT:IJ?T AT & ST Hohd ASIAT § / passes signals between two frequency
limits

(d) ar 3-1'@:% AT & T Tohd Hr E%W HT ¢ / rejects signals between two

frequency limits

50w 8 ¢dT Yedrafcl T 750 r.p.m WX HIOTA gIAT §1 3HeRr Mgy gl §
A 8 pole alternator rotates at 750 r.p.m. Its frequency is
(@) 50 Hz
(b) 75 Hz
(c) 80 Hz
(d) 100 Hz

51 faAfaf@d # Afsea arue Sl & g2

Which one of the following is a passive device ?

(a) FET
(b) SCR
(c) BIT

(d) Air core inductor
52 fAFAfaf@d 3-%8 At & F HidT AT Al AT TSI el ¢
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Which one of the following 3-phase motors is NOT self-starting ?

(a) FHMITIR FAlEX / Synchronous motor

(b) TEFaTeT ol §3FUA HAlEX / Squirrel cage induction motor
(c) a:.—-: UeX AlY / Wound rotor motor

(d) 3¥d el AlEX / Double cage motor

53 ol @R & enRar & FHAMIAT B &

The capacitance of the capacitor is directly proportional to the ....

(a) Telc @ 9ary / material of the plate

(b) Telc T &F%e / Area of the plate

(c) velc & & dleedr / voltage across the plate
(d) coet & & gad polarity of the plates

54  TeR ST H g dreedT (E) & AT & (Ep = %H dlecd)
The line voltage E, in a star connection is equal to.... (Ep = phase voltage)

(a) \/§ .Ep
(b) Ep

() +/3.Ep

1

(d) V3 .Ep

55 R ORE FT APAUHS, Scildcdhel 33T Pl AHA el T9T g

Which type of fire extinguisher is suited for extinguishing electrical fire?

(@) deT - vfAs 3P emA® / Soda — Acid Fire Extinguisher.

(b) FE - BT 3FA aFS / Carbon — Dioxide Fire Extinguisher.
(c) WIH €89 3l A% / Foam Type Fire Extinguisher.

(d) gt / Water.

56 QY Ag R F Y IOTh FIT AT §
What is the form factor of pure sine wave?
(a) 0.11
(b) 1.01
(c) 1.00
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57

58

59

60

(d) 1.11

araIRar S, #ael fHAoT # DS va fharfead aer g 3fed §

The wiring that needs to be planned and executed along with building construction is

(a) Fellc arANIMT / cleat wiring
(b) S¢oT arIReT / batten wiring
(c) HesqC g arafeT / conduit surface wiring

(d) &sgC Hdles arIRdT / conduit concealed wiring

dlecHIEY & WH HI deld & faw
In order to increase the range of a voltmeter

(a) W H wen 7= gfeRier & SEr S1ar § / a low resistance is connected in

series

(b) FATR H T fas=T 9fcRier &I ST S1ar § / a low resistance is connected in
parallel

(c) H@em # UH Iz YR &I SNST STl & / a high resistance is connected in
series

(d) FATGR H Teh 3T 9fcRIY HI SIS AT g / a high resistance is connected in
parallel

I I aRT g v V dleear g, AW AFTIP & @AJeT &
If current is | and voltage is V, then power P is equal to

(@ Vvl

(b) VvzxI

(c) VxI?

d) vxlI

solfFcahd IRYY H AXRAT FTHIT: CaRT AT HI AT &

Continuity of an electrical circuit is usually checked by

(a) 3MHART / Ohmmeter

(b) THIEY / Ammeter

(c) dtee HIEX / Voltmeter

(d) erfFa #eX / Power meter

Page 15 of 18



Technician-B (Electrical) Question Booklet Series - C

FOR ROUGH WORK

Page 16 of 18



Technician-B (Electrical) Question Booklet Series - C

FOR ROUGH WORK

Page 17 of 18



Technician-B (Electrical) Question Booklet Series - C

FOR ROUGH WORK

Page 18 of 18



